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HARYANA SSC MOCK TEST-1

1. Cup is to coffee as bowl is to-

3. ﬂuttmg

5. Food

(A 1,2, 3,4 B Palel 4 -

(C) 3,1,2 5, D) 5,2, 1,3, 4
Direction: Two statements are given followed
by two conclusions I and II. You have to
consider the two statements to be true even,
if they seem to be at variance from commeonly
known facts. You have to decide which of the
given conclusions, if any, follow from the given
statements.

B. Statements:

Some humane creatures are angles.

All doctors are angles.

Conclusions:

I. Some humane creatures are doctors.

II. Some doctors are humane creatures.

[A] Omly I follows

[B] Omly II follows

(C] Both I and II follow

(D} Neither I nor I follows

+ I

[A) dish [B] soup
[C] spoon (D) food
2 In this question, a number series is given
with one term missing. Choose the correct
alternative and fill the blank spaces.
20,19, 17, _, 10,3
[a4] 12 B) 13
[C] 14 o) 15
3. Choose word out:
Lake , Sea , River , Pool
[A] Lake [B] Sea
[C]) River D) Pool
4. IfTAPis coded as SZ0, then how is FREEZE
coded 7
[A] ATSSETS [EI] EQDDZD =
[C] EQDDYD BFRs = —
5. A man pointing to a_ ys, “The
lady in the photog n:';:'rhiir‘a'
maternal grand
the photograph r
who has no other B
[A] Sister-in-law
[C] Cousin
6.  Select related words
7.

1. 9 Fw % (v §, @ T FaE A 8
(A] =M (B} =
IC) =94 (D] %=1

2. A Y v e gaen ¥ vF i | Ry o
%1 =t 9 = 47 w9 o O A W W
20,19, 17, _,10,5
A) 12 B} 13
(C) 14 D] 15

3. e == T
wE, W, 76, tee
(&) == B} ==
(C) (D) e

4, TAETAPH SZO® »9 § oz f&d =0 £, @
FREEZE F1 ¥4 Fz {3 =dw?
—tA] ATSSTS (B} EQDDEZD

—=:= ([CEEQDDYD (D) ESDDYD

5. UF =|H uF wEwE F oA FE FaEa 6
'z wiEnEs # 9 W W F A 61 v
ﬂmwmmﬁmuﬂmim

s

BT JE
ﬂtﬁntmﬂmmiﬁ;ﬁﬁﬂﬁﬂﬂ
B we et o dva £, fd 0w W e
I B
R

T AEEA =1 T

4 =iFe T

far;

1. T wREE A9 =igm §

Il. 95 =i "REE =9 E

(A) F97 1 s F 2

(B) ®=m 1] sy =0 #

(C) 17 I 3 apeem o &

(D] = 7 I I s Fem T
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11.

12,

13,

14.

15.

Directions (9-10): Complete the given figure by
choosing the correct alternatives from the

answer figures.
9. Question Figure:
?
Answer Figure:
NI
oy 4] [L2]] ; L] m

after 04 days?
[A) Monday
[C) Friday

o (9-10): 377 wta ¥ # wm W A v

FTF T W HO 7
g. mamsﬁr:
T HTH

Il

iy

Lucky is sixth from the left end and

Abhiranjan is tenth from the right end in a
row of bova. If there are cight boys between
Lucky and Abhiranjan, how many boys are
there in the row?

[A) 21 [B) 23

[C) 24 (DY 25

Ais 40 m South west of B. C is 40m South
east of B. Then, C is in which direction from
A?

[A] West [B] North-east
(€] South [D} East

Lot . 5

B (7T |6

3 (3|2

29 (19 | 31

[A] 3 B) 4

[C] 5 D) &

13.

14.

13.

FET AgH] 1 UF FA7 A 96 ©OR ¥ 99 TE W
¥ Tew s 290 o O 3T o W ) T S
i afwa & 9 o= A5F § & A F
oo o

(A) 21 B} 23

Ic) 24 D) 25

A, B 540 W 3m-9ff = 4 11 C, B # 40 e
m-EHAOHC, AG e e A ¥ e

(A) fv=EH (B} ==r-gd
(T} =fam D) =t

L 14 L5

8 [7 16

alalz

29 (19 | 31

A] 3 B) 4

Ic) 3 o] &
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16. How many scconds a 120 metres long | 16, f6d5 g9z § 120 ¥ =& SrEs 10 devasoe
caravan running at the rate of 10 m/s will T A TF wE F5F T o9 FE =
take to pass a standing boy. 10 il Bl 123
[A} 10 seronds  [B] 12 secands (A) 10 7wz (B) 12 #w=
[C) 11 seconds (D) 14 seconds IC) 11 ¥¥E (D) 14%E
17. A boy was asked to multiply 8 number by | 17. ©F JgF F1 vF g 7 12 9 o F= T Fa
12. By mistake, he multiplied the number W, FF TH e F 21 4 en F I § Ae IO
Sy %1 and got bie o G T Wi S T W T A 63 S T W §) T v faea
rﬂr:ﬂ:t answer. The number so multiplied o -
T B} 9
(A} 7 B) 2 4 (B)
[C) 8 D) 12 iC) 8 Dy 12
18. At what rate of Simple Interest a certain 18. mmmﬂﬂﬁmmlﬁﬁ
sum will be doubled in 15 years 7 ¥ e w2
1 1
[A) 55% [B] 6% iA) SE% B} 6%
C ﬁg% (u] ?l% = = 62% ju] 'Tl%
19. 254 x?x8=0 T 254 % 7 x & = 053504
[A] 47 1 = |A] 47 (B) 49
[C] 31 iC) 51 (D] 53
20. Find CP. when 5.R T A FY, 79 [FF9EY T 400 ¥ 7w
s T4Dﬂﬂ
(A) T3
(© 7 2000 . !
3 | ' 7000
21. I the sum of gAEn
sum of their reci 3 = i
would
[A] B a
[C] 7and 3
22 Wa:b { b 4
o 22, WEa:b=2:3T@ b:c=4:5 % &: b be
(A 4:9:45 (B) 16:36:45 =7
(C) 16:36:20 [D) 4:36:40 (A) 4:90:45 (B) 16:36:45
23, The radius of a circle is 13 cm and ABis a (C) 16:36:20 (D) 4 : 36 : 40
chord which is at a distance of 12 cm from | 5y Tu F T 12 % § T AB uE S =
the centre. The lenght of the chord is @ @ 12 @ F 30w A wm & _
[A] 16 cm [B] 8cm ; gl ) S
(C] 10 em (D) 15 cm (A) 16 %k (B) 8%
24, If the H.C.F. of two numbers {each greater (C) 10 = (D) 15 =+
than 13} is 13 and L.C.M. is 273, then the | 24, = gemadi T A @ (v9F 139 951) 138 78
st of the muniber Wik L. - w273 £, 7 wems w1 gm #m -
(1) 286 i) 130 {A) 286 (B} 130
[C] 288 D) 290 (C) 288 (D) 290
1
fra - 1
AN BBt oETee = 35. 1260 ¥ 333 % + 755 W 80% = 2
(A4} 1162 (B) 1402 (A] 1162 (B) 1402
[C) 1024 (D) 1001 (C) 1024 (D} 1001
|
Mote :The Information Provided here is anly for Befersnce.It may wvary the original.




wwWww.rrbrecruitment.co.in

26. 1085 books can be packed in a box. If the | 26, oF T=9g § 1085 fF9d 9F {53 =1 oFd §) 92
number of box is 90, then how many books T F o 0t e e A R A
are necded to pack all the box™ FAS TR T aEeTE T P
{4, 1040 EY. S (A) 10770 |B) 97945
[C) 34390 (D) 97650 (C) 34390 (D) 97650
27. Lookatthisseries: 3,1, (1/3), (1/4), ... What ) H .
SRR, 27. q_u'araa'ria 22,1, (120, (174), ... =T R
[A} 173 B 1/8 HEE A SR P
[C) 2/8 D) 1/16 (Al 1/3 (B) 178
28 Cost of 3 chairs and 4 tables together is Icy 2/8 _ o) /16
equal to cost of 5 chairs and 3 tables. What | 28. 3 Ff95 79 4 99 7 AmG oF =99 5 H{ES 70
is the ratio of the cost of a chair and a table ? 3799 Ft A ¥ T §) v F 7w vF 19N
(A} 2:1 B 1:2 T AR T A TP
C) 3:1 oy 3:2 ) 2:1 B) 1:2
29. 10 men working 6 hours a day can complete c) 3:1 D) 3:2
a work in 18 days. How many hours a day | og_ 10 =8 6 %2 wiAls =l %% vH =9 = 18
must 15 men work to complete the same ﬁﬁﬁwﬁ‘{mil |5 ST Wi TR w
work in 12 d 7
[A] & - B 10 ~ | . FE g A E 12 B9 e
(c) 12 ) 2 il
30. At what ratio milk ¢ 1y 12 (D 15 )
be mixed with wat 7 16.50 ¥ 7w 39 F o F 7w (Fy wgae A
mixture is 7 15 per il mﬂﬁmmmaﬂzmwﬁﬁﬁzrﬁaﬁ?
(A] 5:1 B) lD 1
[y 512
31. The tomb of Ibrah
[A) Panipat
32.
[C) FeD only
(D A mixtur
33. Perma
sulpha’
by the use of-
[A] Nitratea |
[C] Sulphonates D) None of these n
34. Whao is the present Governor of Harvana ? (C) TPEr= (D) =9 & T8 77
(4} Babu Permanand 34. THAM F TR EEE FE B
[B] T. V. Rajeshwar (A) T TR
[C) Kailashpati Misra iB) . F. mve
[D) Kaptan Singh Solanki
35. The colour of Emerald is- (C) e s
[A] Viclet (B} Yellow (D) Tt fidE Hrnt
[C) Deep Green (D) Prussian Blue 35. TR mE -
36. First novel written in Haryanbi language 1A) ot (B) 9=
R ) ) (C) En T (D) Tk =
4y Bl Ratnad 36, FHEE wep 7 fmr v e AEE E
[B) Dan Lila
(C) Surahi Gaiya [A) B2 F FEE (B) EF =i
(D} Jharufiri IC) Tt | D) wrwdt
37. Water has maximum density at— 37. =7 wME W fFE TR W T P
[A} -4°C B) 0°C A) -4°C (B) 0°C
[C) 4°C (D) 100°C {C) 4°C (D) 100°C
|
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38. Who was the founder of Vishal-Haryana | a5 zfmpym & faw= tfam o § oo99s 59 860
Party of Haryana ? P
(A} Rao Virendra Singh Al iﬁ Tt o
{B) Om Prakash Chautala (B) = W e
[C) Hukum Singh (C) &=A fHE
[} Bhagwat Dayal Sharma (D) wrrEe = wE
39. The metsl used in storage batteries— 39. v 9A W g T o uE -
[A} Iron (B) Copper
(C) Lead iD} Zine (A) (B)
40. In which part of Haryana are the Siwalik (c) =rm (D) fo=
Ranges situated? 40. T F fF9 wm F faafas wdAen e © e
[A] South-Eastern (B) North-Western (A) - (B Fe-wiy=t
41 SLINEX 1s bilateral maritime exerei (€) 5w iy
5 is bilateral maritime exercise
Seteeen- % Taniea:andt whikdh nounins 41. 'SLINEX siw® 3w fFg 3w § 59 fod o
[A} China (B} India wvm P
[C) Pakistan {0 Bangladesh (A] == [B) A
42 *Banwali” the main land of Indus civilization _{C) wfEmm (D) =reErde
is gituated in which dis i3 2 2
i) Thisas _'ﬂnaﬁ'ﬁ" o ov® T 9eA WM TREmm F fFa
[C] Faridabad o 3 e & — _
43, Which of the fal (A) fran (B) T3
celebrating the R 7 (D) 99 T
20167 T A FE-m WA W SeeeE
(A} Nagaland
[C) Sikkim
44,  Mufti Mcha ¥
of which of the
Jammu & Kashi E G EGET
{A) Jammu ""1‘!_ = oH 2
[B) Jammu and wd
(C) Janin = (JKPDP)
7 (NC)
(D) f:;m“ o 1191 7 1192F 7AFH
45. At which place of Harvana did a battle m # i e Pl kb =
between Mohd. Gauri and Prithvi Raj # -7
Chauhan take place in Medieval period of (A) BTE [B) 7
1191 and 1192 7 |C) =y (D FfeEm
{4 Kiliarunds i Beimgi 46. wF T ¥ v v T EEE g f R .
[C) Asandh |D) Nising = &
46. The location and energy of an electron in it
an atom can be specified by- L Bl B
(A} Atomic mass {B) =¥ we
(B} Atomic number () T Wl
[C) Quantum numbers D = | FrF 5
47. The metallic constituents of hard water are- ’ _ :
(A] Magnesium, Calcium and Tin (A Bt $m T T
[B] Iron, Tin and Calcium (B) TEr, T 7 HienTm
(C) Calcium, Magnesium and Iron (C) FTew s, fwfwam 7w
(D} Magnesium, Tin and [ron D) g ]
|
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48.

49,

0.

3l

52.

53.

Haryana is bounded by— 48. iy fom g E -
[A] Himachal Pradesh in the North, Uttar (A] T ¥ forae wawm, o # Tun v o feeeh,

Pradesh and Delhi in the east,
Rajasthan in the South and South-East AP o 3 H e T e

and Punjab and Chandigarh in the W Ay S _
North-West (B) 9d # fim=a viwm, 5w A oo, e F
[B) Himachal Pradeshin the East, oo e TfEEE H T wEW
Chhattisgarh in the North, ?‘unj,ahin the (C) wveR § wF-Fei, v ¥ vae, 3w d T
South and Uttar Pradesh in the West e
[C) Jammu Kashmir in the West, Punjab in Rl
the East, Uttar Pradesh in the North and (D} ¥ A i
Uttaranchal in the South 49. FefAfd 79 4 FR-m o EE | o
(D} Mone of these FHE 2
:;hi:h of the fnu.gwing clements is obtained {A) =i (B) T
m sea weeds 7 o
(A} Argon {B} Sulphur (C) Ff=m (D) ST
[C] Vanadium (D) lodine 50. wOrm A E —

Harvana State is the— (4) TR o
[A] Southern State 3 r - =
[B] North-Western Sgal
[C) Eastern State
[D) South-Easte
Which of the fo
shown by hydro
(A} It burns in air
[B) It supports oo
[C) It Eumhlnca i
forming hy
(¥ It readily
chlorine
Palwal city of
of the state?

THer

(A} 1st Now.

[C] lst Dec. : = 4 B33
34. Pravin Gordhan is rl:!at:d to whn:h of the (C) 1 fEamm (D) 8 feee
following fields? i i, F
[A} Scientist (B} Politician 54. v windy, fefetted ¥ 4 fw e @ WA 2
[C) Dramatist (D) Environmentalist (A) FmfF (B) =
553. Which Btﬂ.?t of the country is famous as |C) TE&Fr (D) e : .
Land of Milk and Curd'— S5 W F AR WA 'SH T A ' F e A
[A} Himachal Pradesh waE ¥ -
[B] Uttaranchal . i
[C) Haryana 1A) Ll (B) ]
(D) Punjab (C) ¥reamm (D) 9=
56. WVasco da Gama set foot on the Indian soil | 56. == fz wm fFm 2§ wpa F7 oot 7 99 @
in the year - o7
[A) 1487 (B} 1488 [A) 1487 (B 1488
o ﬂ. s e ";L Hais : - iC) 1489 (D) 1498
- Where ia the Bata Shoc manulactunng | 57 gfawn % fesd e v Fr Fram w6 o0 § 2
factory situated in Haryana ? 3 b h 3
{A) Panipat {B) Faridabad (A) i i i
[C) Bhiwani (D) Palwal IC) T (D) e
|
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58. Who was the ninth Guru of the Sikhs ? 58, T F A IR G 7
[A) Guru Ramdas {A) 7 TEE
[B) Guru Govind Singh P
(C) Guru Teg Bahadur (B) ¥ mf=3 faE
(D] Guru Amardas (C] % 7 FErET
59. Total forested area in Haryana is— (D} 7% =W 3}
[A] 964 km? {B) 6940 km? 59, TfEmm ¥ Eair Eﬁ'% -
[C) 2440 km* (D) 4230 km?*
60. Satyashodhak Samaj was founded by — (A) 064 5 fosh  (B) 6940 = farh
(4) Bal Gangadhar Tilak () ._f:44umiﬁm1 (D 4230 37 f&e
[B} Jyvotiba Phule 60. WEAYE FHE [FoT i fFa9 @ ?
[C) Gopal Krishna Gokhale (A} == T e
&l '[II':E)I}c v.'nr':::l B;f;b;_ :;l.&mn::ux Nawab Pataudi @ ; ﬁ
= e f€) T Fom i
{A] Literature [Foetry] (D) ifs =+ wF _
{B)] Amphitheatre 61. TEm TEE R w T A a7
[C)] Sports [Cricket) (A) i (1
(D} Politics jBl Eﬁﬁhm
62. Mithathal famous for the remains uf EnEIua =
civilization is situateddn 25
[A) Jind district
[B) Hisar distri
[C) Bhiwani dis
(D ALl these
63. Foona Pact (1932[
and — £l R g3z g fFgF ¥ g -
[A) Vallabbhai Pat - e =i
(B} Rajendra Pras %
[C) Lord Irwin
[} B.R Ambedia
B4. Where ia the
situated?
[A) Kaithal
[C) Fatehabag
(=8 i i
Terrorighn (GTO) | wwd +
[A] 4th
[C) 8th Oth - A
Bl vioasii o (C) = (D) =
[A) Ambala {B) Gurgaon 66. T ¥ fAm fad F AT Gw 17
[C) Bhiwani (D) Sonipat (A) =f (B) T
67. Who was the British Prime Minister when (C) Feamt (D) wi=
India achicved independence ? 67. 329  wIAWHE 39 §. 99 WA 3 = o
[A) Ramsay Macdonald = u 7
Winston Churchill . .
EE: Clement Atlee (A) T BFEEE (B) ez e
(D} Stafford Cripps (C) Ttz wert (D) =HTE
68, According to population census of 2011, [ 68. 2011 FY wwEem & =gEn, w0993 fa00 79 7
;:ﬁdahalit;fzt;i:ar_anka firet in the atate, wHT T 9T 7, SO S -
pop A) 17,98,954 B) 24 40,396
[A] 17,98 954 B} 24,400,396 :E]l 32 80, 160 ED!l 34,30,264
[C) 32,80,160 (D] 34,30,264 —_— r‘ i ., e ﬁ
69, Who founded ‘Khudai Khidmatgar” - R kit B
{A) Abul Kalam Azad (A) 3F FEE AR
(B} Muhammad Barkatullah (B) HEFHE FWEdoon
(C) Hakim Azmal Khan (C) THFM =4 am
[D} Khan Abdul Ghaffar Khan {D) = == T e
|
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T0. Geeta Jutsi the famous player of Haryana | 70. i wedi 2famm #7 wiag famg 1 fF8 @9 9
is associated with— g E -
[A) Chess (B) Weight Lifting i e
[C) Lawn Tennis (D) Atheletics 1A) 3 (B)
7l. Who was the Venctian traveller to the ic zfm (D) wHfeT
Vijayanagar cmpire ? 71, faa09n oA F A 3 96 f1 w7
[A) Nicolo di Conti  (B) Megasthenes (&) D F FE
[C) Vasco da Gama (D) Ibn Batuta (B) B
72, Which of the following dance is performed (C) FrF-f-mf
by women?
[A} Teej dance (B} Umru dance D) ¥ T!!?Im . -
[C) Loor dance {D} Manjeera dance 72. feafcfad | T T Higna g F AW w ?
73. Civil Disobedience Movement was started (A) = 79 [B] 3H= T4
by Gandhiji in the year - (C) T 99 (D) S 7
Eﬁigﬁ? :g“gig 73. =T == @@ e T T mh S oo o
?
T4. Where ia the Panchwati pilgrim place Tlggw ! [B) 1930
;T::::T FE"“‘“':;:'“ ” i) 1931 (D} 1932
(C) Ballabhgarh : Wm:__ﬂwmmﬂwﬁmi?
75. Whose clarion call to (A (B) ¥r=H
Awake and Stop n (C) Ty (D) 9 ° FE /T
{#) Rahindranath 75. T F AW fFoF wFEE W- I8 A s T
Eg:gﬂ?“_ﬂﬂv_“ﬂ ey F 79 7F T ) owfE T A
wami Vivekanangs e A 5 =
(D) Aurobindo Ghds T i g .
76. Which Tomb has beé ; S S
heritage under th .-'_r- ] H = TEEAN A
587 =g | Hifvd
(D Ali Shah
T7. Broming is
[A) colobrh
(B) A highly i ; .
[C] A Black soli A o
(D) A red ligeorid: I ;-
T8, The last powerful and significant Gupta Lo Sloidiei
king who defeated the Hunas was— II_:']' ekl i . L
[A) Kumaragupta TO. =l wiFawE T ARy e v faw g F
(B} Chandragupta 111 W |-
[C) Mahagupta {A) AT (B) F=qa 111
D (C) e (D} ez
79. In which district is the Tomb of Gulam ruler
Rajia Sultans situstod? 79, g f= F 9 weE dEE geae &) Add fod
[A] Ambala {BJ Karnal #?
[C) Kaithal {0} Faridabad (A) === (B} T
B0. Which ancestor king of emperor (C) FuA (D) =
Harshvardhan made the construction of 80, wWHE TS T g v T T W &
Thantahwar_ Mahadev temple near e v TEES O S A e
Thaneshwar city ™ -
[A] PrabhakarVardhan o B
[Bj Nar Vardhan (B} = T
[C) Puniya Bhuti IC) 79 wid
(D} AdithyaVardhan (D) = T4
|
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g1, ‘ww' F w3F® o §74 §, ffated § § $9-77 | Directions (Q. nos. 91-94) Choose the most
1% o = BT suitable answer for the following questions.
91. Your jacket ..._..... over there.
(4) = (53], " T {A) could hung there
[C) fra® (D) ™4 {B) did hang up
B2 M;ﬂﬂmﬁaﬁm‘mﬁmqmﬁr (C) can be hung up
i (D) will hung up
(&) 5t T [B) wfvr=+ &= 92. S8he.....
Pt {A] has never been heard of
a3 E?ﬁ: :‘ﬁ B} Lo {B) has not never be heard of
: Cjh been heard of
[A) e [B) Fren :D;h:‘drcnr:r‘cr:rhc gﬂ.ﬂ:l again of
[C) =iren (D) =Hrn 93. She told me that she would come on
B4, A T AFG T F) ovoF wgwiEd =w H 8 Monday.
[A] FHERF (B) FAERF (A} Compound
(C)FH sh A (D) == :g: Eﬁ‘;ﬂl“
BS. Wme W e § (D) Simple
[A) FTEH TBL?‘T?_t_ — =~ =" |94 .- God made the country and man made the
[C)sf= |V == —=—— ="t
86, 'ofFEA-uARE W A W = (A] Simple [B] Mixed
TFm {C) Compound (D) Complex
) Directions|(). no. 95): Find out the part which
E‘;}] m_m ontains error. If sentence is error free, then
B7. Notification ¥ : uietly (B)/ in
[A) == u Mo error (D)
C m E e [l ;
i i . B} debit
- S —
B9
E""q aw i‘t] are
() fam (D) gy (C) was (D) were
00, =9 o Oms 5eE oY e f e O vee | 990 . ..._you care for chocolates P
=4 A W i (A) Must (B) Would
(A)H & v e - wm {C} D (£ Banh
100. The door .......... paintings.
(B it “;:T - =i ren {A) must (B) needs
[E]:nfﬂﬁ ﬂhﬁﬁ'{ o=t . (C) ought to (D) should
(D) =t - Wgd ==
|
Mote :The Information Provided here is anly for Befersnce.It may wvary the original.




	QUESTION-PAPER.HSSC_.01_001.pdf
	QUESTION-PAPER.HSSC_.01_002.pdf
	QUESTION-PAPER.HSSC_.01_003.pdf
	QUESTION-PAPER.HSSC_.01_004.pdf
	QUESTION-PAPER.HSSC_.01_005.pdf
	QUESTION-PAPER.HSSC_.01_006.pdf
	QUESTION-PAPER.HSSC_.01_007.pdf
	QUESTION-PAPER.HSSC_.01_008.pdf
	QUESTION-PAPER.HSSC_.01_009.pdf

